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Q1. Choose the correct answer. 1X10=10 S5 (e ne Sl b Je.1 Ay

1. Ca0 or lime is used extensively in steel, glass and paper industries. it
IS produced in an exothermic reversible reaction by the

decomposition of lime (CaCQ3). Choose the conditions to produce
maximum amount of lime.

Kbt T E LI (D) Kbk AT 2 L1/ 1 (C)

Cooling it in a open vessel Cooling it in a closed vessel

2. What is the colour of copper sulphate pentahydrate is:

Yellow L (D) White 4+ (C)

3. Areverse reaction is one that:
< tlsiiZ 24T 2T (D) e tbsf =247 (C)
Speeds up gradually Slows down gradually

4. The forward reaction take place:
None of these % = Ut (D) Both a and b Uslss —sf 3 (C)
5. Which type of reaction do not go to completion?

l_.f—? ,deJi 3 ,{L;:,; (D) Addition reactions f'-'-/ ro’;ﬁfy (C)

Decomposition reactions

6. Vast deposits of coal are available in:

All of these 1 . (D) wi- # (C)
Thar,Sindh

7. The reaction which depends upon nature of reaction:

none of these null (D) base reaction  null (C)

8. The formation of ammonia gas is favourable at:

none of these null (D) high temperature null (C)

9. Industrially, ammonia is prucluc:ecl by which process :

Halogenation <~ s (D) Hydrogenation ==~ 1,%1, (C)

_.»_rrJWI;.,/ u‘._)-*""Jd: ;:uK_uf*( i ( CaCO3) Lf'(’b N
ﬁgul-/lLr"ufuJK_fan('{'-;‘_t’bL- rfd.i: ...-f}’;lffuiéLLf:( g
Jlﬁ’uJL;La*L;JJh’_)’ |L‘*“1/'Jﬁ-|/d): UJJUT:JJ-;"_J‘;U;JHJJJ
?r;'-v'ﬁ eSS

Ce bl ST E L5 (B) ) €Ly S L a5 (A)

Heating at high temperature in a Heating at high temperature in a
open vessel closed vessel

Z'T_.t':fj.: K@:JE# L"-f_,ui«;,—‘l""{b/ 2

Black v&'(B) Blue I (A)

I.E'T_.t'ﬂn:;;jgdiﬁﬂdxug 3

(B) < enfise i (A)

.J_A_.H_Lf ;ﬁjuu“"{ Ky~ Proceeds from left to right
Lt \-fg..f
In which reactants react to form
products

- . fre - b .
I;,_E.J_ﬁ..g,gi;}’}d'gu:.fb 4

Left to right /1> /L (B) Right to left L= 1: (A)
tn S PSS 5

FEGSE 15, (B) FEGS s (A)
Reversible reactions Irreversible reactions

a2y B LE S B

Peshwar,Kpk £ (L st (B) — Lzt (A)
Lahore ,Punjab

A

null

static reaction null (B) dynamic reaction null (A)

8

null

null (B) null (A)

high pressure low temperature

e Qe & AU v 25 8
Solvay process =4+ (B) Haber process =3z, (A)
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10. Formation of ammonia from Nitrogen and hydrogen is an: ;g_f_gf@:,,éjgﬂ,;,uﬁurwlL;ﬁf;fi: 10

Hexdftes (D) BothAand B udse s (C) FEI6,L #2 (B) SISl 25 (A)
No heat change Endothermic reaction Exothermic reaction
Q2. Write short answers of the following questions. 2X10=20 sk -ff*“ 7 /a'? Lty tioie2 /,J'LJ; v
| . How can you get the maximum yield in a reversible in a reversible ?,.-'_'_,JE:-Jwbé’ﬂﬁ"ﬂk,};.p}k}b(ﬁl,;bﬁdingJJ:{J}thg J
reaction?
Il . How can you decrease the time to attain the position of equilibrium in &:u.‘.,_rJ,T__,;K,u.:3,-_24L%,&-)bdﬁ)ﬁffﬂ@ﬁ;,@.@ |
a reversible reaction? ¢e G Ldud
Il . What is the effect of increasing pressure on the following reaction at ?ZUJ?:J’}F'[:(LL[;&E A ﬁdﬁivﬂuﬁ S
equilibrium? Na(g) + Ozg) (equation) 2NO(g
IV . Why are combustion reactions generally irreversible? LUl S duly ;;bl!uyﬁgld;;?.‘f_ Vv
V . Write formula and colour of Copper sulphate pentahydrate? -u'.‘."’g I 1 ng,ug-_;ﬁz;{ .V
VI . Give example of reversible reaction. _Jfﬁ Jed cf-(ld;J:’-'-’ 28V
VIl . What is dynamic equilibrim? S bnl/l A1 LEs . VI
VIl . Effect of change of pressure on the reaction at equilibrim? Vi
null
IX . Write a short note on the industrial production of the ammonia? _ﬁ#;ﬁ?ﬁiljj%&’;ﬂbfgfp X
X . What is chemical equilibrium? sl oV £ KIS | X
Q3. Write detailed answers of the following questions. 5X2=10 L2 MRI L ey f3osur 34 Iy
1. Describe the effect of a catalyst on the reversible reaction. _ur'/,;,.pu;bf;,pfiZ_;,,J&_{’,wi’;rd;‘)ff;;d;,g 1

2. How can a reversible reaction be forced to.go to completion? ?,f_CCLF“JJ,éé.LL;:L}; Jn!d;‘,}ff;,-d;_{fﬁ,}uj 2
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